/5] swagman: BUMPER RACK 2 - 80605

Bike Racks

1- End Cap
2- Stabilizer Bar
3- 7" x 3/8" U-bolt

4- 3/8" nut
S 5- 3/8" Lockwasher
e & 6- 6" x 3/8" U-bolt
e 7- Carrier Frame
< 2
sl e
s A e
E%
3
< 4
e ——— 5
[©]
< 6
7 —>

Check out the collection of bike racks we offer.


karla
Text Box
BUMPER RACK 2 - 80605

https://www.carid.com/swagman/
https://www.carid.com/bike-racks.html



